H & 0l & AHS B Ml A

SA AFCIARIL
M AMIl= HEHE
Rl ZAIER X F EER=E)
SA - BB C9I(B) - NIRAY - BES ol ko o 8 o HIRS2
Fal={BPNIN] 4,862,690 4,479,945 382,745
= 57,064 57,064 0
£ 900,000 900,000 0
< 22,982 15,982 7,000
= 3,832,644 3,506,899 375,745
2Nt A=HE 1,991,589 1,974,949 16,640
= 57,064 57,064 0
< 22,982 15,982 7,000
= 1,911,543 1,901,908 9,640
CAB2 & 316,633 309,633 7,000
< 7,000 0 7,000
s 309,633 309,633 0
YESEAIE JHEAY 177,000 170,000 7,000
[ 7,000 0 7,000
= 170,000 170,000 0
402 RIZEXH20IH 177,000 170,000 7,000
< 7,000 0 7,000
= 170,000 170,000 0
02 QI X2 AL EE(0IETHE) 7,000 0 7,000
OXEE LHSOISel2 stEs EXIAMY
7,000,000 7,000 0 7,000
< 7,000 0 7,000
Selzainsael 131,892 130,252 1,640
Sejgnzatel 127,032 125,392 1,640
201 Let=23 | 11,032 9,392 1,640
2 s5=34l 7,232 5,592 1,640
OZZERAA HIIL2
1,280,000 1,280 0 1,280
OZSHTAAN IHURS
360,000 360 0 360
SEFH2AFY 1,269,064 1,261,064 8,000
= 54,064 54,064 0
< 15,982 15,982 0
s 1,199,018 1,191,018 8,000
SSTEXFAE 548,500 540,500 8,000
402 QI”FXH=201H 478,500 470,500 8,000
01 QI XH2AILE R (KA THE) 478,500 470,500 8,000
OXIF SYIXIOHIHE =& A EIIAIE w
KIS A 8,000,000 8,000 0 8,000
HREs(ASCIXI) 1,413,349 1,047,244 366, 105
SEXE 1,413,349 1,047,244 366,105
=CHISEE=2 1,413,349 1,047,244 366,105
802 gtet=JIEt 1,413,349 1,047,244 366,105
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